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Γ4. 1η περίπτωση:  

 

2η περίπτωση: 
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ΘΕΜΑ Δ       

Δ1.    

                  

 

Δ2.   

  

αριστερά του σημείου Γ. 

    

              

Δ3. 
 

   ,     

 ή                                  

 Δ4.           

 

cm 0 2 2 0 20 gt gt r t 1,4sΔ γρυ = υ − υ = ⇒ υ − = − υ = ω ⇒ =

( )B
L 2L0 Mg N M 4kg
2 3ΓΣτ = ⇒ = ⇒ =

1 1F 0 Mg m g m 3,9kgΒ ΓΣ = ⇒Ν + Ν = + ⇒ =

( ) 1 2
L

0 Mg (m m )gx
6ΓΣτ = ⇒ = + ⇒

L
x 0,5m

6
= =

1 2T (m m )g 10N= µΝ = µ + =

2 2
1 2

1 2L 1 L L
: 0 (m m )V T( x) k( x) V 5m / s

2 3 2 2 3
ΘΜΚΕ − + = − + − − + ⇒ =

( )2 0 1 2 0: m m m V 200m / sΑΔΟ υ = + ⇒ υ =

2 2
1 2 0 12
1 1Q m m V 1950J
2 2

= υ − =
2 T 2

2L
Q W T x Q 25J

3
⎛ ⎞= = + ⇒ =⎜ ⎟
⎝ ⎠

1 2Q Q Q 1975Jολ = + =

2
2

2 0
1 1 LQ m k Q 1975J
2 2 3ολ αρχ τελ ολ

⎛ ⎞= Ε − Ε = υ − ⇒ =⎜ ⎟
⎝ ⎠

2 2
1 2 1 2

1 1 L: (m m ) (m m )V T 17,5m / s
2 2 2

ΘΜΚΕ + υ − + = − ⇒ υ =

Td WdQ dx dQ
T 42J / s

dt t dt dt
Τ

= = = υ⇒ =
Δ

© Εκδόσεις Αξία 2024 


